-
SBC

Gina Harrison SBC Communications Inc.

Director- 1401 | Street, N.W.
Federal Reg::latom Suite 1100

Washington, D.C. 20005

Phone 202 326-8882
Fax 202 408-4805

"~

January 26, 1998

Magalie Roman Salas
Secretary » AR 5 4 e
Federal Communications Commission '

1919 M Street, NW, Room 222 T TR

Washington, D.C. 20554

Re: Ex parte presentation, IB Dkt. No. 97-142
Dear Ms. Salas:

On January 23, 1998, Stan Moore and Gina Harrison representing SBC

Communications, Inc. (SBC), Jerry Hausman of MIT, and Carl Frank of Wiley, Rein &

Fielding made a presentation to Douglas W. Webbink. Chief Economist, Mark Uretsky
and Adam Krinsky of the International Bureau; Donald K. Stockdale, Jr., Associate
Bureau Chief of the Common Carrier Bureau; and Patrick DeGraba, Deputy Chief
Economist of the Office of Plans and Policies to discuss grooming of inbound
international telecommunications traffic. In addition. the attached document depicting
the economic efficiencies of grooming was distributed.

Sincerely .
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Gina Harrison

Attachment

cc: Douglas W. Webbink
Mark Uretsky
Adam Krinsky

Donald K. Stockdale, Jr.
Patrick DeGraba
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To: Carl Frank
From: J Hausman ]

Re: Dominance presentation

Date: December 17, 1996 .

In Pigure 1 I dapict the usurl "monopoly problem". I sggume constant
marginal cost (MC) and thn first best solution is price equals MC. Now of
course because of significant fixed cost, a telecom cannot charge MC and
survive. Thus, p, is the price at which the firm earns its cost of capital.
If the price is set at the monopolist level. p,, then the loss to the economy
is the triangle which I have cross hatched. This loss in economic efficiency
is always a triangle, because the rectangle is gained by the company’'s

shareholdars, although income distribution issuas do arige.

In Figure 2 I now consider the grooming problem. The marginal cost
decreases from MC, to MC, sc the rectangle is a real savings to the US
economy. This cost savings is why grooming is not a zero sum game with pecple
in Nebraska. The cost to people in Nebraska doesn’t change, but we save costs
which is real resource savings to the economy. Now if the price didn’'t change
from p, before we still have a gain in productive economic efficiency, which
is almost greater than a gain in allocative economic efficiency. However,
since we expect Pacific to capture part of thea cost decrease, it will lower
its price to p, which also causes a gain in allocative economic efficiency.
Thus, grooming is good in both types of economic efficiency. It cannot be
correctly characterised as *whipsawing" bacause grooming causes a real gain in

economic efficiency to the US economy and also will lead to lower prices for

consumers . P
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